GIS GCH-1600/GCH-2000/GCH-2500

B & ®EE®E®E ® @




GCH1600 | GCH2000 | GCH 2500 GCH1G00  [GCH2000 | GCH 2600
1| 23042V 50/80Hz 905645004 | 905645004 | 9056.45004 B [10x28 903001 | 3039.0011
40042V 50/60Hz 905645014 [ 905645014 | 9056.45014 3| M0x85x49 9408.3012.3
2| M5x15 9065.3103 | 9086.3108 [ 90853103 W0x 83 x4 $408.30143 | S408.3014.3
3 |M%x15 90554013 [ 90954013 | 80854013 40 [8313x250 M0B30163 | 940830163 | 9408.3016.3
4 [ MEx90 940830154 [ 9408.30154 | 9408.30154 4 [Mex12 90300214 [ 90300274 | 9030.0274
5 [ 166x210 9408.30423 | 9408.30423 | 5408.30423 L 90313003 [9031.3903 | 50313903
6 | M6 90311281 90311281 | 9031.1281 45 | MBx8 90300309 [ 90300309 | 5030.0300
T | U5x3045% 2515 9408.3000.0 | 9408.3000.0 | 9408.3000.0 4 | Mox16 90302502 [9030.2502 | 8030.2502
§ | 186x169.94x20 9408.3019.3 [ 9408.3019.3 | 9408.30193 4 [M20x15 9055.3612 | 9086.3512 | 90853512
9 | 6005, 2547 x 12 00381036 [ 00381036 | 00381036 4 | ed7x25 90350015 | 9035.0015 | 9035.0015
10 |a3367x742=13 9408.30264 | %408.30254 | 9408.30254 47 [ 14080x902=10,-N (40830333 [ 9408.3033.3 | 940830333
11 | 6205, 2605215 90380019 [ 9038.0019 | 8038.0019 2480130 210, -NF 9408.30343 | 9408.304.3 | 9408.3034.3
12| a115.92 2278, -Ni-NF 940830233 [ 9408.3023.3 | 9408.30233 24080 x130 =15, -SF (408.3035.3 [ 9408.3035.3 | 940830363
#1085 =73, §F 9408.3024.3 | 9408.3024.3 | 8408.3024.3 48| px7s 9230.3097.4 | 9230.30974 | 923030974
13 [AZ%x12 00310016 00311016 | 0031.1016 49 | L=90, 3Ph 230/400V 50Hz, 2p, N $407.01003 [ 9407.0100.3 | 9407.01003
4 [152x2 9031.2206  [9031.2206 | 8031.2208 L=130, 3Ph 400V 50Hz 8/2p, -NFI-SF Q0704003 | A0T.400.3 [ 9407.0400.3
15 [ 345x230x% 9408.3001.2 [ 9408.30012 | 8408.3001.2 L=130, 3Ph 230V 50Hz, 8/2p, -NF/-SF $407.04023 [ 9407.04023 | 407.04023
16 | Mex35 9030.0278 [ 90500278 | 9030.0278 50 |e156x935 405.3006.2 | 9405.3005.2 [ 9405.3005.2
M x 35 9000.3261 [ 90303281 | 5030.3261 51 | Mx25 90300276 | 90300276 | 9030.0276
11| 8x9x2183 9036.0601 [ 9036.0601 | 90360601 52 | 230V 50/60Hz, komp. 9066.22014 | 8056.22014 | 9056.2201.4
18 |6x75x1875 | 9036.0600 | 9036.0600 | 9036.0600 400V S0/60Hz, kompl. 9056.22004 | 9056.22004 | 9056.22004
19 | MBx3 90300269 | 9030.0269 | 8030.0209 5 |e80x2 40830304 [ 940830384 | 940830394
pi L 90313004 [ 90313904 | 50313904 4 | 868516 9408.3055.4 | 9408.30854 | 9408.3055.4
A | AYNx1S 00311020 [ 00311020 | 0031.1020 55 | 168x65x9 M03.30143 [ 940530143 | 940530143
2 |e125422=57 940830263 [ 940830263 | 9408.3026.3 5 [ e0416x30 40040424 | 9400.30424 | 940030424
25| 8307, 3580 x 2 90380022  [9038.0022 | 6038.0022 5 [e68x2 92103454 | 92103454 [ 9210.33454
24 | 05881 x1082=12 940830274 | 9408.3027 4 58 [ MGx80 9030.0284 | 9030.0284 | 90300284
p51.2% 108 2=10 940830284 5 | Mg 90311276 | 90311276 | 90311276
25 | NJ205, 2652 x 15 0036.1624 [ 00361824 | 00381824 60 [ 1191035, kompl. 0401.3016.3 | 940130153 | 9401.30153
B | 10x13x3143 9036.0603 [ 9036.0603 | 9036.0603 119 103.5, NA komp. 8401.3018.3 | 9401.3018.3 | 9401.3018.3
a4 [Mex2 90300267 | 9030.0287 | 9030.0287 Bl | 16A 90520012 | 90520012 | 9052.0012
% [213x164x625 9408.3002.1 | 940830021 | 9408.30021 B2 | Mix16 §030.9260 | 90303260 | 9030.3280
28 [I10x4 00311137 | 0031.1137 [ 0031.1137 83 | 1{NARY 940212002 | 940212002 | 9402.1200.2
0| U7x22x6 9408.3008.3 | 9408.3003.3 | 9408.3003.3 2{NARY 40213002 | 940213002 | 402.1300.2
3 [140x70x49 9408.3011.3
140x70x49 940830133 [ 9408.3013.3
2 |As0x2 00314028 | 00311028 | 00311028
B [e14386 234 $408.3029.3 | 9408.3029.3
p15147 =36 9408.3030.3
Y [e95x25 90350017 90350017 | 9035.0017
3 | B0122RS, 6095 x 18 (038.1085 0038.1085 | 0036.1085
3 [ e97x140,57 9408.3031.2
w101 x 140, 5T 940830322 | %408.3032.2
3| 621222, 601110x 22 90380020 [ 90330020 | 90380020
IR 0390010







GCH1600 | GCH2000 | GCH 2500 GCH1600 | GCH2000 | GCH 2500
100 | 2KNA3m 020.1086.3 | 9290.1086.3 | 9290.1086.3 160 | 209x127.1 923531103 | 923531103 | 9235.91103
KNA4m G290.1067.3 | 9290.1067.3 | 9290.1087.3 161 | pd7030x3 90384750 | 9034750 | 90384750
2NAS m 629010883 | 929010883 | 9290.1088.3 162 | 471302 903.0252 | 9036.0282 | 9036.0282
KNAGm 9290.1089.3 | 929010893 | 9290.1089.3 163 | e4780x1 00383128 | 0038.3128 | 0038.3128
KNABm 920010903 [ 929010903 | 9290.1090.3 164 | 947287 923531074 | 923531074 | 9236.31074
KNA1Om 920010913 [ 920010913 | 9290.1091.3 165 | B6xd4dx¥ 840030003 | 940890053 | 9408.3006.3
2KNA1Zm 929010923 [ 9200.00923 | 9290.1092.3 166 | 04t 822034704
2KNA1Sm 920010933 | 920010933 | 9290.1093.3 0.5 22034714 | S220. 34714
KNAZOm 920010843 | 929010843 | 9280.1094.3 063t 92034724 | 922034724 | 9220.34724
101 | 2KNA 929010843 | 929010843 | 9290.1084.3 041 022034734 | 922034734 | 9220.34734
102 [ 13x26x5 9039104 [ 90361104 | 9030.1104 1t 022034744 | 9220.34744 | 9220.34744
103 | 5x0.75 mm, L= 90650110 [ 90850110 [ 9085.0110 1251 22004754 | 922034754 | 9220.34754
104 | MA0x15 90553102 [ 9055.3102 | 9055.3102 161 22034764 | 922034764 | 9220.34764
105 | L=50 9031804 [ 9031804 | 9031.8004 2t G124 | 2424 [ 922134124
10 | a78/50x1 922132004 [ 922132094 | 9221.32994 251 023032264 | 9230.32264 | 230.32264
11| sb7HBSx1 922133004 [ 922133004 | 9221.33004 2 2303214 | 9230314 | 900.02274
12 | e80x2 9405.30184 | 9406.30184 | 9405.30184 40t 023131964 | 9231.31964
13 | a32x25 90350021 [ 90350021 | 9036.0021 501 §235.30644
114 | 33x118x58 9405.3017.4 | 9406.30174 | 9406.30174 167 | 3x6 0031.6604 | 90316604 | 9031.6604
120 | +4e80x 90, N 940500353 | 940500353 | 9405.0036.3 168 [s=20 204024 | 9220.4824 | 9220.4824
24980 % 130, -NF-SF 9405.3037.3 | 9405.3037.3 | 9405.3037.3 1710 | 140%96 % 181.5 9235.3104.1 [ 9235.3109.1 | 9236.31004
12| 82817 00380261 [ 90380281 | 9036.061 7 | oB8x76 623030594
12 | 850x65 9405.3021.4 [ 9405.30214 | 9405.30214 890 x80 92313004 | 9231.30504
128 | 880x3 940500134 | 940530134 | 9405.00134 172 | 80x80x100 §235.3105.3 | 923531053 | 936.3105.3
124 |A2%x12 00311016 | 00311016 | 0031.1016 173 | 810x40 9235.31084 | 923531084 | 923631084
126 | 0195x25 9035004 [ 9035004 [ 9035.004
126 | 6005 LLUA, 25047 x 12 9038.0005 [ 9038.0005 | 9038.0005
127 | M2x3%5 940500194 | 9405.30184 | 940530194
128 | 820110x25 90341010 | 90341010 | 9034.1010
128 | o18xdd$ 0405.30404 [ 9405.30404 | 9406.30404
130 | M6x6 9030.2011 | 90302011 | 9080.2011
151 | abxdd 90315857 [ 90315857 [ 90315657
132 | 047 x 3675, -NINF 9408.3036.3 | 9408.3036.3 | 9408.3036.3
o47 x 3575, -5F 940830373 [ 9408.3007.3 | 9408.3007.3
133 | 8037 51 405.30434 | 9405.30434 | 9406.30434
1% | ¢4909x5 QAT (AT | AT
135 | 6206 2RS, 3062 16 0038.1149 | 0038.1149 | 0038.1149
136 [Ax15 00311018 00314018 | 00311018
150 | 1600/4; 2000/3; 250013 KS G405.3044.1 [ GA05.3044.1 | 9406.3044.1
1600/10; 2000/8; 250018 9405.3045.1 [ 9405.3045.1 | 9405.3045.1
1600130; 2000/25; 2500125 405.3046.1 | S405.3046.1 | 9406.3046.1
151 | 08x166 922530004 [ 922630304 | 9226.30304
15 |Gr8 9031.2400 | 9031.2400 | 9031.2400
153 | 76x57 x5 Q3631113 92613 | 926N
154 | MBx45 9030.0291 [ 9030.0291 | 9030.0291




